Warm Up Instructions

You can use your notes to do the following problems:
1) Write the following in Bracket/Interval Notation, and a Number line:
x>12

2) Write the following number line in Set Builder notation, and Bracket/Interval Notation
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Agenda for Oct 22:

1) Warm Up

2) Test Correction

3) Solving Inequalities
4) Practice










LONG ANSWER Show all of your work_inciude a final statement_ (10 marks sach) |
7. MARIO AND THE FLAGPOLE!

Al the end of level 1. Mario JUMESs up on a grant flagpole His bonus ponts for the level
are determined based upon how close to the top of flagpole he reaches

S000 points are awarded if he lands at the very 1op, and he loses 20 bonus points. for

oach centimetre he lands below the top.  The dagram below provides several values
related to Mario's position on the flagpole

Using the given information, determine how many bonus points Super Mario will

be awarded for reaching the castie (round values to the nearest cm’
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Inequality Number Line l\?{r:?:t}i(:tt'n Set Builder
x<5 «— J-eo, 5] {(x eR|x <5}
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Lesson 3-4: Solving Inequalities
October 22, 2015

Learning Intention:

To solve an algebraic inequality.

Success Criteria:

1)
2)

can solve an inequality of type 1 - 5.
“flip” the inequality sign whenever | divide

oy a negative number.



Do you remember your vocab?

a) x has a minimum value of 2 X=>2
b) y is at most equal to 7 y<7
c) 9isless thany 9<y

d) x has a maximum value of 15 x <15

e) xis greater thany X >y
f) x is not less than y X>y
g) xis less thany X<y

h) x is not greater thany x<y



Number line example
Which Inequality sign fits?

-4 < 6
-4+3 < 6+3
<
-4-5 6-5
<
-4 x2 6x2
If you multiply or divide an
4:2 5 g+2 inequality by a NEGATIVE
NUMBER, you FLIP THE
> INEQUALITY SIGN!
-4 x -2 6x-2
>

4:-2 6+-2



Solving inequalities

2 tips to remember:

e |f you multiply OR divide by a NEGATIVE number, the inequality
sign flips!
o Otherwise, solving is exactly the same as a regular equation.

Example 1 Example 2
4a—-12< 48 180-2a< 115
+12 +12 - 180 - 180
4a < 60 —2a < -65
4 4 = +
a <15 a >32.5
(The sign flipped over because we divided

This means the variable by a negative sign!)
a can be any number less
than 15. This means the variable a can be any

number greater than 32.5



* Homework: Page 39, #a3, b, c,d, e, f

— Challenge (optional): write your answers in
bracket notation!

— If you make some mistakes, OR if you think you
need more practice, please attempt more of
the problems on page 38

Success Criteria:

1) You can solve an inequality of type 1 — 5.

2) You flip the inequality signh whenever you
divide by a negative number.



